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Question Number : 1 Question Id : 8946584009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_ (1, if i+ j=11
Let M =(a,)be a 1010 matrix such that a, =+ .. Then, the
" ; otherwise

determinant of M 1s

Options :
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Question Number : 2 Question Id : 8946584010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let 4and B be two square matrices of order n . If 4B=4. BA=B then 4’ + B =
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Question Number : 3 Question Id : 8946584011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the system of linear equations x+yv+:-=3.x—y—

the value of & for which this system has an infinite number of solutions 1s

Options :
-5

N

12

4,x—5y+az=6. Then,

Question Number : 4 Question Id : 8946584012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(cosa sma 0

IfA(a.f)=| —smna cosa 0O

9

L B g &
Options :
1 Ala.p)
, Ala.—pB)
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A(—a.— p)
3.

, A=a.p)

Question Number : 5 Question Id : 8946584013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

;
: ; %3 ;
The rational fraction —; 1s equal to
(x2 +4)(x-2)
Options :
3x+6 5

8(x* +4) i 4(x—2)

3Ix+6 5

A7 +4) 8(x-2)

12

3x+6 5

8(x2+4) G 8(x-2)

3x+6 5
- v
(x*+4) (x=2)

Question Number : 6 Question Id : 8946584014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If log,3=a.log; 5=>0.log,2=c. then log,,, 63 =

S

Options :
1—2ac
2c+abec +1

1-2ac

, . 2e—abe—1
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1+ 2ac

2c—abc—1

1+ 2ac
4 2c+abc+1

Question Number : 7 Question Id : 8946584015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

27 4 6T
COS T+ COS + COS =
7 1 7 -

Options :

1
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0
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Question Number : 8 Question Id : 8946584016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angles 4.B and C of a triangle are in an arithmetic progression and if .5 and ¢
denote the lengths of the sides opposite to 4.B and C respectively. then the value of the

i BB o e .. .
expression —sm2C+—sm24 1s__.
C a

Options :

3

I

N
2

-
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Question Number : 9 Question Id : 8946584017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

St 4 : | 1 .
If sinx+siny= 3 and cosx+cos y=—. then cot(x+ )=

3

Options :

—

/

, 24
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1
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Question Number : 10 Question Id : 8946584018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If sin(x® +28)=cos(3x" —78°) and 0" <x* <90°. then. which of the following is the
value of x° ?

Options :

50°

30°

=
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Question Number : 11 Question Id : 8946584019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; G5 W S .
e tan‘ Cosec 16‘ ;anch -sec — ]+cowc Tan™ ; , then (x.v)=
3 \ b B
Options :
‘ 16
f 16 A
s)
o 63 !
iféi.ﬁl
3 \16
s
63
4

Question Number : 12 Question Id : 8946584020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[x=1) .
|+Tzu1-1: il ::Tan‘l(—T) has

o & W

The equation Tan™

Options :

unique solution x =2
1.

two solutions y=1.2

12

no solution

E]

infinite number of solutions

Question Number : 13 Question Id : 8946584021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In a triangle 4BC . let a.b and ¢ denote the lengths of the sides opposite to

3 .
: : . then the angle C 1s .

A.B and C respectively. If + =
a+c b+c a+b+c

Options :

30°
1

90°

12

60°

Question Number : 14 Question Id : 8946584022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

—_—

If sin/ix=3 then x

Options :

~ log(3+4/10)
log(3-+/10)
log(6 +4/10

L-2

sl

Question Number : 15 Question Id : 8946584023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Which of the following 1s NOT true for the complex numbers Z; and = 5 7

Options :

'

£ S on

2
== ]

-
—

=
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2,
1z + 2| < |z ||z
3
2 2 -
|:1+:2 +|:1—:2 :2‘:1 + 2|z,
4

Question Number : 16 Question Id : 8946584024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

7 5
~ - i 4 -
If a complex number = = a2 e hen =7 1s

Options :

2ﬁ+2z‘
1.
1 ﬁ

=

Question Number : 17 Question Id : 8946584025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the straight line which makes intercepts 7ands on the coordinate axes

such that 7 +s=35 and 75s=6 is ax+bv+c=0 .then a+b+c= — -
Options :

¢

h

L-2
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Question Number : 18 Question Id : 8946584026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a straight line ax+by +4/5 =0 touches the circle x° +1° =5. then which of the

following i1s TRUE?

Options :

1 5((:3 +b*) =1

a* +b’ =\/5_.

12

a’+b* =1

[ ]
b

Question Number : 19 Question Id : 8946584027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a chord of length 12 cm 1s at a distance of 44/10 cm from the centre of the circle. then

the radius of the circle 1s
Options :
| 14 cm

V304 cm

=

g 4 cm
i V124 cm
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Question Number : 20 Question Id : 8946584028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The 2019® derivative of the function (x—1)¢™ is

Options :
x—2019
p '
2019—x
2, €
x—2020
3 P‘l
2020—-x
4 e

Question Number : 21 Question Id : 8946584029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A2
gL, A — = | - C __
If 2= f(x+ct)+@(x—ct), then — =
cl
Options :
5 2
C_ FRT! |
| OX
<)
2 |
—C =—
CcX
2.
ﬂ'l
1 0z
——
vl 0
3.
-
1 0z
B .
4 C CX
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Question Number : 22 Question Id : 8946584030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2 ; : G cU cU
If x=rcosé, y=rsmé and U = /(6) then E—tp—=
cx cy
Options :
| 0
3] [I
,
J.
T T
4. 2U

Question Number : 23 Question Id : 8946584031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let f(x+v)=f(x)f(y). Vx.v and f'(0)=35. f(2019)=15. Then the value of

£'(2019) is .
Options :
| J
75
1
3 3
1
4 fi

Question Number : 24 Question Id : 8946584032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- : = 1 ) - - §
The set of values of x for which the function f(x)= 2x° —9x* +12x+4 is Increasing

1S

Options :

l<x a2
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all xeR

L2

R-[1, 2

vy

x2>2

Question Number : 25 Question Id : 8946584033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

lIlllxl log| 1+— l_]ogl i 1 152
Options :
%

&2
L.
y o
g

2
4.

Question Number : 26 Question Id : 8946584034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
df

1 =CO0s 1. z =1 then d_ at 1=0 1s
[

If f(x.y.2)=x+x"+y +0z, x=¢,

Options :
ﬂ,

l s

L-2

(W)

Question Number : 27 Question Id : 8946584035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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0
1
5 4

J‘ (1-(1- %)) x¥dx
Which of the following is the value of 5050 x ?

Options :
| 5100

-2

Question Number : 28 Question Id : 8946584036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 - |
[ maxqx, ——x =
+0 )

L 2 ]

Options :
. 0
L
v 2
3,
;3 16
2
" 8

Question Number : 29 Question Id : 8946584037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. 1 n _5
lm—>»" k=

—iC 1

Options :
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Question Number : 30 Question Id : 8946584038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[ =
=1 (1-tx)
Options :
0
1.
22
—=
v 7
2
. 105
3.
71 37
B A

Question Number : 31 Question Id : 8946584039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. P .
The area of the region bounded by the curves y=2—-x" and vy =—x 1s

Options :
|
i
8
, 19
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Question Number : 32 Question Id : 8946584040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The volume of the solid obtained by revolving the region bounded by the curves

y=x. =8 and x =0 about the y-axis is

Options :

96

12
I

Question Number : 33 Question Id : 8946584041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The value of Eb’ sin” Bcos” BdO is

Options :
2
4
32
l. -
T
.
) 32
2
T
3 16
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Question Number : 34 Question Id : 8946584042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

= > 2 . ‘
The average value of the function f(x)=4—x"over the interval [-1. 3] is

Options :

-3
'Lu|

[o—

Question Number : 35 Question Id : 8946584043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

" ® W d'l‘ 2 W ®
The differential equation ‘a’_ = y+x". x>0 satisfying y(0)=0has
AY

Options :

mnfinitely many solutions

no solution

-2

; A unique solution

exactly two solutions

Question Number : 36 Question Id : 8946584044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. a : 3= . .
The differential equation (@ .Yj‘3 +yveosx)dy+(x v +bsmx)dy =0 is an exact

differential equation for

Options :
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a=1b==
| 2
ﬁ=éub:1
i
2
a=—.,b=1
3
3
2
a=1.b=—
i 3

Question Number : 37 Question Id : 8946584045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

B < : " . i g e e
If sinx is a solution of the differential equation —-+2—5+6—5+2—+5y=0.
dx dx’ dx- dx

then the general solution 1s

Options :

R . _ ! e 1 " n 3
E =¢,smx+c,cosx+e (c;sm2x+c,cos2x)

V =¢;SINX+C, COSX+C; SIN 2X + ¢, COS 2x

12

3x -2x

V=GSsmxY+c,Cosx+ce” +cge
. —. S L2 0, 2x
4I - -_

Question Number : 38 Question Id : 8946584046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If D= a . then — : (6™ sin 3x) is
dx D" —-4D+13

Options :

l-—xezrc053x
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e  cos3x

=

; I
—xe”~" sin 3x

L

, T
xe ' s 3y

Question Number : 39 Question Id : 8946584047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

( -l\h_ Vv

: K3 | dx
The general solution of ‘ bt
| Jx Wfx

—=1 1s
dy

Options :

| y=e 2Jx+0)

y=2Jx e +c

L2

A Ic
.1'=."-’\f; & 4g

L

y=e 2Jx+c)

Question Number : 40 Question Id : 8946584048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
dv

: . . : ] |
Let y be the solution of the differential equation d_ +y=x,xeRand y(-1)=0.
X

Then. y(1) 1s equal to

Options :
#, 2

e £

=
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Question Number : 41 Question Id : 8946584049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the substitution x = X + /., y =Y +k transforms the differential equation
(y—=x+1)dv—(y+x+2)dy=0 into a homogeneous equation. then the

value of (/1.k) is

Options :
(1 i“
L 9" 9 ]
["—1 -3
B -
2.
| 272
s _
[ -3 -1
e
) 2 -~

Question Number : 42 Question Id : 8946584050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The general solution of ——y= v (sinx+cosx) i1s

Options :

|1‘ —

y=ce " —e sinx

7

ce’ —sin x

-
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y=ce " —sinx
3

1

ce’ —sinx

.1! =

Question Number : 43 Question Id : 8946584051 Question Type : MCQ Option Shuffling :

Single Line Question Option : No Option Orientation : Vertical

i
|
)

The Laplace transform of the function f(7)=-

IS

Options :

;.. for all s >0
(1+s57)

1 .
———foralls<rx
(1+s°)

2

Question Number : 44 Question Id : 8946584052 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

sin7. for0 <
LO. fort>nx

Yes Display Question Number : Yes

17T

: Yes Display Question Number : Yes

;9—3: je—?:
The inverse Laplace transform of ——- —= 1S
s $
Options :
5 0<x<3
§(X)=40, S T
2, X>1
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S, O0<x<7
o
f(l)_ﬁ' 2 % 0
S, D<x<3
Fx)=+42 £ S A
| 0. X7
3 L
5, Dcx<’
=1
0. x>
4 L

Question Number : 45 Question Id : 8946584053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
1

.
s>+ 252 +2s

The Laplace transform of a function f(x)is F(s)= Then. ]_jn&f (x)=

Options :

L2

B |

Question Number : 46 Question Id : 8946584054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
dv

The Laplace transform of the solution of the differential equation d_ —2v =¢* with the
X

mitial condition 1(0) =3 i1s

Options :
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L . 14
3(s—2) 3(s-5)

1

Question Number : 47 Question Id : 8946584055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If L(y(x))=Y(s)and v(x)= i J:_sin (x—1)v(t)dt then é}-*( s) =

Options :
\ S .5“6
1.
‘ 1 & 1 T
s §)
i
i
\ 5B S
3.
'l
b
S S )
4

Question Number : 48 Question Id : 8946584056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
dt 1s

sin x7
I

For x > 0. J.:

Options :
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. 0
T
3 X
1
q A
/4
4, 2

Question Number : 49 Question Id : 8946584057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 x : . : . .
I rx)= —a, + Zr:‘=] (a, cos nx+b, s nx) is the Fourier series of the function

i

[0, -m<x<0 _ -
Jin)= 9 then. which of the following is TURE?
| T Osx<n7x

Options :

G =(. for alln =0

T
a, = % anda, =0. for alln =1

12

b, =0. for alln =1

a, = anda, =0, for alln =1

Question Number : 50 Question Id : 8946584058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A function f(x) issuchthat f(x+27)= f(x) and f(x)=x.—7 <x < 7. The Fourier

series of f(x) is

Options :
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. §i -
Z(Sm.i‘—;sm 2.1‘—|-Esm B~ i )
l. - -

: | (- ;
2(sin x+—sin2x +—sin3x+.......)

5 2 3
= 1 1
2(cosx——cos2x+—cos3x—.......)
2 3
3
5 . ]
2(cosx+—cos2x+—cos3x+....... )
2 3
4. - -
Physics
Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 51 Question Id : 8946584059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The dimensional formula for gravitational constant 1s

Options :
L3T-2M!

L3T2M!

12

L2T*M™2

L3TIM-3

Question Number : 52 Question Id : 8946584060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The dimensions of the quantities in one of the following pairs are same. Identify the pairs.

Options :
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torque and work

angular momentum and work

L2

energy and Young’'s modules

light year and wavelength

Question Number : 53 Question Id : 8946584061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is not correct?

Options :

, KX]e)
1'-: k:-J

3.

. Kxi=-]

Question Number : 54 Question Id : 8946584062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If0.51+ 0.8 ) +ckisa unit vector then c 1s

Options :

v 0.89

12

v0.11

Question Number : 55 Question Id : 8946584063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following 1s correct?

Options :
AB#B.A

A.(B+C)=AB+C.A

1

3 AB=AB-AC

AB=-B.A

Question Number : 56 Question Id : 8946584064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The acceleration due to gravity on the surface of the earth is given by

Options :

, G

GM/R?

1

. GM/R

GM

Question Number : 57 Question Id : 8946584065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The value of g 1s maximum at

Options :
equaror

Pole

higher altitudes

)
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at the centre of the earth

Question Number : 58 Question Id : 8946584066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When the speed of rotation of earth increases your weight

Options :
increases

decreases

12

remains constant

becomes zero

Question Number : 59 Question Id : 8946584067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The value of G is zero at

Options :
nowhere

the centre of the earth

12

surface of the earth

pole

Question Number : 60 Question Id : 8946584068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the linear momentum is increased by 50%, the Kinetic energy will be increased
by

Options :
50%
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100%
2

125%
3.
4 25%

Question Number : 61 Question Id : 8946584069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A metallic block slides down a smooth inclined plane when released from the top. while

the other falls freely from the same point. then

Options :

both will reach the ground with the same velocity

both will reach the ground together

[

both will reach the ground travelling with same acceleration

L

the block sliding down the plane will strike earlier

Question Number : 62 Question Id : 8946584070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A long spring 1s stretched by 2 cm and its potential energy 1s u. If the spring 1s stretched

by 10 cm. then the potential energy stored in it will be

Options :
w24

12
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Question Number : 63 Question Id : 8946584071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio of the

magnitudes of their linear momentum is

Options :

| 4:1

Vv2:1

12

1:16

Question Number : 64 Question Id : 8946584072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A body 1s dropped from rest at height 0.5 m. What will be its velocity when it just

strikes the ground?
Options :
7 nvs
L.

0.8 nv's

12

4.9 m/s

F V9.8 m/s

Question Number : 65 Question Id : 8946584073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle moves such that its acceleration ¢ is given by a = -bx where x is the

displacement from equilibrium and b is a constant. The period of Oscillation is

Options :

| 200D
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21Vb

L2

2IT/b
2VI/b

Question Number : 66 Question Id : 8946584074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle 18 vibrating in simple harmonic motion with amplitude of 4 cm. At what

displacement from the equilibrium position is its energy half potential and half kinetic?

Options :
| 1L.cm

V2 cm

L-2

Question Number : 67 Question Id : 8946584075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a star approaches the earth. the waves are shifted towards

Options :
green colour

yellow colour

2

3 blue end

i red end

Question Number : 68 Question Id : 8946584076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If a tuning fork of frequency 90 is sounded and moved towards an observer with a velocity
equal to one tenth the velocity of sound. then the note heard by the observer will have

frequency

Options :
, 100

90

=

; 80

900

Question Number : 69 Question Id : 8946584077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the most important factor which helps to recognise a person by his/her voice

alone

Options :
quality

pitch

-2

intensity

quality. pitch and intensity

Question Number : 70 Question Id : 8946584078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The quality of tone

Options :

decreases with loudness

varies inversely as amplitude

2
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varies directly as pitch
3.

q depends on the overtones present

Question Number : 71 Question Id : 8946584079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The conduction of heat from hot body to cold body is an example of

Options :
reversible process

ureversible process

12

; isothermal process

1sobaric process

Question Number : 72 Question Id : 8946584080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From the isothermal drawn from Andrews experiment. it can be inferred that

Options :

, COa1s a perfect gas

~ there is continuity of state

L2

there is discontinuity of state

gases like CO> and H> cannot be liquefied

Question Number : 73 Question Id : 8946584081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A diesel cycle works at

Options :
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constant volume

constant pressure

12

constant temperature

TS ECET 2019

both constant volume and constant temperature

Question Number : 74 Question Id : 8946584082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The transition temperature of most low temperature superconducting elements is in the

range of

Options :
zeroto 10k

10kto 20Kk

12

g 20kto 50k

50 k alone

Question Number : 75 Question Id : 8946584083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Propagation of light through fiber core is due to

Options :

diffraction

interference

12

3 total internal reflection

reflection
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Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 8946584084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following energy orders is correct?

Options :
| 6s<4f<5d<6p

4f<5d<6s<6p

L2

4f<6s<6p<5d

6s<6p<Sd<4f

Question Number : 77 Question Id : 8946584085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An element A of atomic number 11 combines with an element B of atomic

number 17. The compound formed is

Options :

1 Covalent AB

Ionic AB

-2

Covalent AB»

Ionic AB»>

Question Number : 78 Question Id : 8946584086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The oxidation number of ‘S’ 1n Sg. SoF>. HaS respectively are

Options :

: 0.+1 and -2
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+2. +1 and-2

1

0. +1 and +2

-2.+1 and -2

Question Number : 79 Question Id : 8946584087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The elements A. B. C and D have the following electronic configurations:

A: 182 282 2p!

B: 1S4, 252, 2P%, 352, 3P!

C: 1S2. 282, 2P6,. 352, 3P3

D: 1S2. 282, 2P 352, 3P)

The elements that belong to same group are

Options :

! Aand C

Cand D

=

Aand D

s

Aand B

Question Number : 80 Question Id : 8946584088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4.9 gm of H2SO4 is present in 2 lit of its solution. The molarity of the solution is

Options :
0.1 M
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0.025 M

L-J

Question Number : 81 Question Id : 8946584089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The molecular weight of H3POy is 98. The equivalent weight is gram / equivalents.

Options :
08

12

Question Number : 82 Question Id : 8946584090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is the Bronsted acid?

Options :

i B g

NH>

12

; CH3:COO
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Question Number : 83 Question Id : 8946584091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The paof 1 M KOH is ;

Options :
12

11

L2

14

Question Number : 84 Question Id : 8946584092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Froth floatation process is used for the

Options :
Oxide ores

Sulphide ores

12

; Chloride ores

4 Oxide ores and Chloride ores

Question Number : 85 Question Id : 8946584093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The composition of brass is

Options :
1 Cu and Zn

Cu and N1

12

Cu and Mn
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Cu and Fe

Question Number : 86 Question Id : 8946584094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is correct?

Options :

1 Cathode 1s positive terminal in an electrolytic cell

Cathode is negative terminal in a galvanic cell

1

Reduction occurs at cathode in either of cells

Oxidation occurs at cathode in either of cells

Question Number : 87 Question Id : 8946584095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the electrolysis of CuClz solution using copper electrode, if 2.5 gm of Cu 1s

deposited at cathode. then at anode

Options :

1 890 mL of Cl> at STP is liberated

445 mL of O; at STP is liberated

L-2

2.5 gm of copper 1s deposited

a decrease of 2.5 gm of mass takes place

Question Number : 88 Question Id : 8946584096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unit of resistivity is

Options :

Q2
L.
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12

Question Number : 89 Question Id : 8946584097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following metals provide cathodic protection to iron?

Options :

Cu and Ni

A

Al and Zn

-2

Al and Cu

, Co and N1

Question Number : 90 Question Id : 8946584098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chemical composition of rust is

Options :
Fe3 04

Fei0Os

=

Fe>Os. nH>O

Fe3z0s. xH2O

Question Number : 91 Question Id : 8946584099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 ppm of hardness of water is equal to

Options :
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1 part of CaCOs3 hardness in 10° parts of water

1 part of CaCOs hardness in 108 parts of water

13

1 part of CaCOs; hardness in 107 parts of water

1 part of CaCO3 hardness in 10° parts of water

Question Number : 92 Question Id : 8946584100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The temporary hardness of water 1s due to the presence of

Options :
MgClz and CaCl

Ca(NOs)2 and Mg(NOs)2

CaSO4 and MgSO4

Ca(HCOs3); and Mg(HCOs)2

Question Number : 93 Question Id : 8946584101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The basic buffer solution i1s a mixture of

Options :

| NH; + NH4Cl1

HCI1 +NH4Cl

12

NaCl + NH4(Cl1

KOH + NHa4(Cl

Question Number : 94 Question Id : 8946584102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following polymers has amide linkage?
Options :

, Terylene

Bakelite

L-2

Nylon

PVC

Question Number : 95 Question Id : 8946584103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The monomer of natural rubber is

Options :
1 Butadiene

Chloroprene

12

2-methyl 1.2 butadiene

2-methyl 1.3 butadiene

Question Number : 96 Question Id : 8946584104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s a thermo setting?
Options :
1 Bakelite

Polyethylene

-2

Nylon-6

)

i Natural rubber
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Question Number : 97 Question Id : 8946584105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The composition of water gas is

Options :

CO and H> are combustible gases and CO: and N> are non-combustible gases
1.

CO + CO;are combustible gases and H>O and N> non-combustible gases

LJ

CO + N; are combustible gases and H>O and H; are non-combustible gases

N2-+H>z are combustible gases and CO + H2O are non-combustible gases

Question Number : 98 Question Id : 8946584106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Earth 1s protected from UV radiation by

Options :

1 Nitrogen layer

Ozone layer

I-2

3 Carbon dioxide layer

Oxygen layer

Question Number : 99 Question Id : 8946584107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of following statements 1s not correct?

Options :
; CO is the main air pollutant

All pollutants are not wastes

1

; Water is polluted by dissolved Oxygen
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Lichens are pollution indicators
4.

Question Number : 100 Question Id : 8946584108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Minamata disease is caused due to the presence of

Options :
Cd
L,
Pb
2
As
3.
Hg
4.
Electrical and Electronics Engineering
Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 8946584109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hard magnetic materials are characterized by

Options :
high residual magnetism and Low coercive force

B

high residual magnetism and High coercive force

L2

~low residual magnetism and Low coercive force

Lid

4 low residual magnetism and High coercive force

Question Number : 102 Question Id : 8946584110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In dielectric materials. the dielectric loss angle will be
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Options :

, Vvery small

medmum

12

large

4 exactly 90°

Question Number : 103 Question Id : 8946584111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The suitable material used for heating elements and loading rheostats 1s

Options :

| ungsten

nichrome

L2

carbon

e

brass

Question Number : 104 Question Id : 8946584112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A battery 1s charged at a potential of 15 volts for 8 hours when the current 1s 10A. The
battery on discharge supplies a current of 5A for 15 hours. The mean terminal voltage

during discharge 1s 14 volts. The watt-hour efficiency of the battery is

Options :

. 82.5%

80%

12

90%
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Question Number : 105 Question Id : 8946584113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If v.w and q stand for voltage. energy and unit positive charge respectively. then

‘v’ can be expressed as
Options :

v = dqg/dw

1.

dv = dq/dw

-2

. N dw/dq

5 = dw.dq

Question Number : 106 Question Id : 8946584114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Two straight parallel conductors are kept horizontally one above the other. If the upper

wire suspends 1n air without any support. then the direction of flow of current in the wires

should be

Options :

in same direction
in opposite direction

Clock wise direction

[y

~ Anti clock wise direction

I

Question Number : 107 Question Id : 8946584115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which of the following statements 1s not correct?
Options :

1 Ohm'’s law 1s applicable for ohmic conductors only

. KCL 1s derived from the law of conservation of charge
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, Superposition theorem 1s applicable to calculate the power in a circuit

] Thevenin’s voltage (V) 1s an open circuit voltage across the load terminals

Question Number : 108 Question Id : 8946584116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Same mass of copper 1s drawn mto 2 wires of 1 mm thick and 3 mm thick. Two wires are

connected in series and current is passed. Heat produced in the wires is in the ratio of .

Options :

. 3:1

9:1

12

81:1

1:81

Question Number : 109 Question Id : 8946584117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A current of 1 = 300t 1s suddenly applied to an inductance of 1mH. Find the induced

voltage?

Options :

1

30V

300V

Question Number : 110 Question Id : 8946584118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An 1deal voltage source of 10 v. an 1deal current source of 1A and a pure resistance of

5€ are connected in parallel. Find the current flowing through 5 resistance?

Options :
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1A

=

Question Number : 111 Question Id : 8946584119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The resistance of a copper wire 1s R ohms. The wire 1s stretched to its double

length. The new resistance is Q.

Options :

12

Question Number : 112 Question Id : 8946584120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of 2 pF. 400 V capacitors needed to obtain a capacitance value of
1.5 uF rated for 1600 V.

Options :

12

[

L
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Question Number : 113 Question Id : 8946584121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The armature resistance of a 6 pole lap wound d.c machine 1s 0.05Q. If the armature 1s

rewound using a wave winding. then the armature resistance will be

Options :

- 0450

0.3Q2

L2

0.15Q2

0.1Q2

Question Number : 114 Question Id : 8946584122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the speed of a d.c motor increases with load torque. then it is a

Options :
series motor

permanent magnet motor

-2

differentially compound motor

) cumulatively compound motor

Question Number : 115 Question Id : 8946584123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A d.c sertes motor 1s driving a load whose torque varies as square of the speed. When
the speed 1s 250 rpm. the line current 1s 15 A. If speed 1s 500 rpm. then the line current 1s

likely to be
Options :

15 A

5 el
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60 A

Question Number : 116 Question Id : 8946584124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The terminal voltage of a d.c series generator 1s 150 V when the load current i1s

S5A. Take the combined resistance of armature and series field as 1Q. If the load

current 1s increased to 10A for the same generated e.m.f. the terminal voltage will

be

-2
—
_n
N
-

“

150V

L

210V

Question Number : 117 Question Id : 8946584125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two DC machines are tested by Hopkinson test. The rating of each machine is

250 kW. The power mnput during this test would be around

Options :

. 250 kW

375 kW

=

500 kW

s

50kW

Question Number : 118 Question Id : 8946584126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The interpole mmf 1s proportional to

Options :
1 armature current

field current

product of armature current and field current

: ratio of armature current to field current

Question Number : 119 Question Id : 8946584127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of parallel paths i the armature winding of a four pole. wave

connected DC machine having 22 coil side 1s

Options :

4

2

1

Question Number : 120 Question Id : 8946584128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To have sparkles commutation, the armature reaction effect in a DC machine i1s

neutralized by

Options :
using compensating winding and commutating poles

shifting brush axis from the geometrical neutral axis to the magnetic neutral

5 axis
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. fixing the brush axis in alignment with the main pole axis

4 increasing the field excitation

Question Number : 121 Question Id : 8946584129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A single phase energy meter 1s operating on 230 V. 50 Hz supply with a load of
20 A for 2 hours at unity power factor. The meter makes 1380 revolutions i that

period. The meter constant 1s

Options :

1 695 rev/kWh

150 rev/kWh

-2

; 1000 rev/kWh

1/150 rev/kWh

Question Number : 122 Question Id : 8946584130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A moving coil mstrument gives full scale deflection for 1 mA and has a resistance

of 5 ohms. If a resistance of 0.55 ohms 1s connected in parallel to the instrument.

what 1s the maximum value of current it can measure”?

Options :

1 100 mA

50 mA

12

10 mA

5 mA

Question Number : 123 Question Id : 8946584131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ECET 2019 11th May 2019
gcollegedumas

India’s largest Student Review Platform

el



TS ECET 2019

Which of the following types of instruments can be used to determune the rms

value of AC voltage of high magnitude (10 kV) and of any wave shape?
Options :

1 moving iron instruments

dynamometer type instruments

-2

mmduction mstruments

electrostatic instruments

Question Number : 124 Question Id : 8946584132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following materials 1s used in the fabrication of swamping resistance

of a PMMC mstrument?

Options :
| copper

aluminum

=

manganin

4 mngsten

Question Number : 125 Question Id : 8946584133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Permanent magnet moving coil ammeters have uniform scales because

Options :
of eddy current damping only

they are spring controlled only

L-J

their deflecting torque varies directly as current varies
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they are spring confrolled and deflecting torque varies directly as current

4 varies

Question Number : 126 Question Id : 8946584134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The most efficient form of damping employed in electrical instruments 1s

Options :

1 air-friction

fluid friction

L2

eddy current

s

over damping

Question Number : 127 Question Id : 8946584135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An AC series circuit consisting of a resistance of 6 ohms and an inductive reactance
of 8 ohms 1s connected to a smgle phase 200 V. 50 Hz AC supply. The current

flowing in the circuit would be

Options :

| 143 A

12

E]

Question Number : 128 Question Id : 8946584136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The voltage and current 1n a circuit are given by
v=10sm (ot —1/6), 1= 10 sin (ot + 1/6).

The power consumed is given as

Options :

, 100 W

50 W

1

86.6 W

s

Question Number : 129 Question Id : 8946584137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a circuit. the voltage and current are given as (10 + ;5) volts and (6 + j4) amps

respectively. The reactive power 1n the circuit 1s

Options :

70 VAR

60 VAR

12

10 VAR

-10 VAR

Question Number : 130 Question Id : 8946584138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When two watt-meter method of measurement of power is used to measure power

in a balanced three phase circuit. if one of the wattmeter readings 1s zero. then .

Options :

| bower consumed in the circuit 1s zero

power factor of the circuit is zero

p
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; power factor 1s unity

, Ppower factor 1s 0.5

Question Number : 131 Question Id : 8946584139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A coi1l having a resistance of 5 ohms and inductance of 0.1 H connected in series
with a capacitor of 50 puF. A constant alternating voltage of 200 V 1s applied to the

circuit. The voltage across the coil at resonance 1s

Options :

200V

| 1788 V

L2

1800 V

2000 V

Question Number : 132 Question Id : 8946584140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two immpedances are connected 1n series. Across each impedance a voltmeter 1s connected
and another voltmeter 1s connected the combination of two impedances. The phase angle
between the voltages across the two impedances when all the three voltmeters read equal

value

Options :
30°

60°

L2

90°

L

120°
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Question Number : 133 Question Id : 8946584141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 200 / 400 V ratio. single phase transformer has a secondary winding resistance of
0.5 Q. The primary resistance 1s 0.1 Q. The total resistance is referred to primary

should be

Options :

0.225 Q

1

0.50 Q

12

1Q

R

Question Number : 134 Question Id : 8946584142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The regulation of two winding transformer 1s 5% at full load unity power factor (pf).

At full load 0.8 pf lagging the regulation would be

Options :

5%
L

less than 5%

12

more than 5%
4 0%

Question Number : 135 Question Id : 8946584143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 10 KVA. 100/300 V two winding transformer 1s used as an auto transformer by
connecting the two windings 1 series to supply a 300 V load from a 400 V AC

supply. The maximum KV A which can be supplied by an auto transformer 1s

Options :

. 10KVA
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Less than 10 KVA

L2

; 40 KVA
100 KVA

Question Number : 136 Question Id : 8946584144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A three phase transformer i1s composed of three transformers connected m
delta-delta. Its rating 1s 100 KVA. If one of the units gets damaged and 1t 1s operated

in open delta. then the rating will be

Options :

1 100 KVA

66.6 KVA

-2

57.7T KVA

50 KVA

Question Number : 137 Question Id : 8946584145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the primary to secondary voltage of a transformer 1s 2:1. If an auto transformer
1s used instead of a two winding transformer. then the saving in terms of weights of a copper

required will be

Options :

50 %
1.

33.33 %

=5

-y

; 66.67 %
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Question Number : 138 Question Id : 8946584146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A two winding transformer has iron losses and full load copper losses equal to
W watts each. It 1s tested along with another similar transformer for back to back test.

The total power mput would be

Options :

; W

2W

1 W

0.5 W

Question Number : 139 Question Id : 8946584147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the power tactor of an alternator 1s zero lagging the armature reaction 1s

Options :
1 demagnetizing

magnetizing

=

cross magnetizing

demagnetizing as well as cross magnetizing

Question Number : 140 Question Id : 8946584148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reactive power output of a cylindrical rotor alternator 1s maximum when

Options :
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l 0 =90°
5 =45°
6=0°
. §
) 0 1s slightly less than 90°

Question Number : 141 Question Id : 8946584149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The full pitch coil 1 a synchronous machine has a span of 18 slots. To eliminate

third harmonics, the coil span would be

Options :

1 9 slots

12 slots

12

15 slots

18 slots

Question Number : 142 Question Id : 8946584150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An under excited synchronous motor operates at

Options :
lagging power factor

unity power factor

12

: leading power factor

lagging power factor at low loads and leading power factor at high loads
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Question Number : 143 Question Id : 8946584151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Synchronous motors are used 1n situations where

Options :

1 the load 1s constant

the load is required to be driven at very large speeds

L3

the load 1s to be driven at constant speed

g the starting torque requirement of the load 1s very high

Question Number : 144 Question Id : 8946584152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 5 HP. 3-phase. 400 V star connected squirrel cage induction motor meant to

drive a milling machine. At starting the machine takes the current about

Options :

1 40 A

100 A

12

150 A

200 A

Question Number : 145 Question Id : 8946584153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 3-phase induction motor has a starting torque of 200 Nm when switched
on directly to supply. if an auto transtormer with 50% tapping 1s used for

starting. The starting torque would be

Options :

1 400 Nm
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200 Nm

12

100 Nm

50 Nm
4

Question Number : 146 Question Id : 8946584154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 400 V. 50 Hz three phase induction motor rotates at 1440 rpm on full load.

The motor 1s wound for

Options :

2-poles

4-poles

-2

6-poles

8-poles

Question Number : 147 Question Id : 8946584155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

While starting a three-phase induction motor. a star-delta starter 1s used to

Options :

1 reduce the starting current

achieve higher starting torque

12

enable the motor to start in the right direction

be able to reverse the direction of the rotation
of the rotor as and when necessary
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Question Number : 148 Question Id : 8946584156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Torque developed by a three-phase 400 V mduction motor 1s 100 Nm. If the

applied voltage 1s reduced by 200 V. then the torque developed 1s

Options :

50 Nm

25 Nm

=

200 Nm

62.5 Nm

Question Number : 149 Question Id : 8946584157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a single-phase supply 1s connected across a single-phase winding.

the nature of magnetic field produced 1s

Options :

1 pulsating in nature

rotating in nature

=

, constant in magnitude but rotating at synchronous speed

constant in magnitude and direction

Question Number : 150 Question Id : 8946584158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A capacitor start capacitor run motor has two capacitors. then
Options :

, both the capacitors are in the circuit during the starting and running
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one of the capacitors 1s in the circuit during starting and the other 1s in the circuit

during running.

-2

both the capacitors are in the circuit during starting and one of them 1s during

running.

one of the capacitors 1s in the circuit during starting and both are in the circuit

during running

Question Number : 151 Question Id : 8946584159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In order to have a lower cost of power generation.
Options :

1 the load factor and diversity factor should be low

, the load factor and diversity factor should be high

L.

the load factor and diversity factor should be medium

the load factor should be low and diversity factor should be high

Question Number : 152 Question Id : 8946584160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A station operates with load factor and plant capacity factor of 0.75 and with a

maximum demand of 100 MW. The reserve capacity is

Options :

- 100 MW
LTS MW

, 13333 MW
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, OMW

Question Number : 153 Question Id : 8946584161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hydro power plant supplied by a river with a discharge of 3000 m?/sec at a head
of 30 meters. with a plant efficiency of 79% develops a power nearly
Options :

1 697.5 MW

345.2 MW

12

; 823.7T MW

423.12 MW

Question Number : 154 Question Id : 8946584162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An mndustrial consumer has a load of 1500 kW at 0.8 pf (lag) for 12 hours

and1000 kW at u.p.f for 12 hours during the day. The daily load factor is .

Options :

; 0.833

0.666

L-2

1.500

0.800
4

Question Number : 155 Question Id : 8946584163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The area under the daily load curve gives

Options :
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rated power of a generating station

the energy generated per day

12

the power consumed per day

the power consumed per year

Question Number : 156 Question Id : 8946584164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The material used for the fuse must have
Options :

: low melting point with low specific resistance

low melting point and high specific resistance

12

low melting point with any specific resistance

5 high melting point and low specific resistance

Question Number : 157 Question Id : 8946584165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Making capacity of circuit breaker 1s equal to

Options :
| 2.55 tumes symmetrical breaking current

1.50 times symmetrical breaking current

12

V2 times symmetrical breaking current

100 times symmetrical breaking current
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Question Number : 158 Question Id : 8946584166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a thyrite lightning arrester. the resistance

Options :

1 varies linearly with the applied voltage

increases with the applied voltage

12

decreases linearly with the applied voltage

: 1s high at low current and low at high current

Question Number : 159 Question Id : 8946584167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The use of high-speed breaker ;

Options :

1 reduces the short-circuit current

improves system stability

12

decreases system stability

increases the short-circuit current

Question Number : 160 Question Id : 8946584168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which relay 1s more susceptible to electromagnetic interface?
Options :
1 digital relay

electro-mechanical relay

2

: static relay
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mstantaneous induction cup relay
4.

Question Number : 161 Question Id : 8946584169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Distance relay 1s the best example of

Options :
unit protection scheme

non-unit protection scheme

12

. independent protection scheme

i differential protection scheme

Question Number : 162 Question Id : 8946584170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Switching of unloaded transformer during zero crossing of voltage wave generates

Options :

1 maximum amount of magnetizing mrush current

minimum amount of magnetizing inrush current

=

zero amount of magnetizing inrush current

large harmonics

Question Number : 163 Question Id : 8946584171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The resistance and reactance of short transmission line are equal. At zero regulation. the

load will be ;
Options :

unity power factor
.
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Z€10 POWET factor

(06

0.707 (lag)

0.707 (lead)

Question Number : 164 Question Id : 8946584172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The presence of earth in case of overhead lines
Options :
increases the capacitance

increases the inductance

12

: decreases the capacitance

decreases the inductance

Question Number : 165 Question Id : 8946584173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sag for a span of 350m. if the ultimate tensile strength of conductor 1s 5000
kg. factor of safety 1s 2 and weight of conductor 1s 0.550 kg/m 1s nearly

Options :

3.37m
1,

6.20m
2.

1.20m
3.

10.8 m
4

Question Number : 166 Question Id : 8946584174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A short line with a reactance of 20 ohms and negligible resistance operates with a
sending end voltage of 132 kV and recerving end voltage of 126 kV. The
maximum power that can be transmitted with this voltage profile 1s about

Options :

| 400 MW

832 MW

-2

1000 MW

132 MW

Question Number : 167 Question Id : 8946584175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A string of six insulators has self capacitances equal to 10 times the pin-to-earth

capacitance. The string efficiency will be around

Options :
30%

58.48%

12

]

Question Number : 168 Question Id : 8946584176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The propagation constant of a transmission line is (0.15 x 107 + j 1.5 x 107). The

wave length of the traveling wave 1s

Options :

| (0.15 x 107) /(2n)
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(27) / (0.15x 10%)

L-2

(0.15x10%) /n

n/0.15x 107

Question Number : 169 Question Id : 8946584177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The insulation resistance of a cable of length 10 km 1s 1 MQ. For a length 100 km

of the same cable. the insulation resistance will be

Options :

1 MQ

10 MQ

-2

0.1 MQ

0.01 MQ

Question Number : 170 Question Id : 8946584178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a three phase. 4 wire AC system. if the loads are balanced. then current in the

neutral wire 1s

Options :

1 Amp

2 Amps

12

3 Amps

0 Amp
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Question Number : 171 Question Id : 8946584179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For combined power and lighting load. the distribution system used is

Options :

3-phase. 4 wire
1.

l-phase. 2 wire

-2

3-phase. 3 wire

2-phase. 2 wire

Question Number : 172 Question Id : 8946584180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an instrument transformer phase angle error occurs due to

Options :
1 secondary current not being 180° out of phase with the primary current

actual transformation ratio 1s different from turns ratio

1

A secondary current is being 180° out of phase with primary current

: secondary current 1s being i phase with primary current

Question Number : 173 Question Id : 8946584181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical active load 1s

Options :
; blower

lathe

=
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. pump
3.

hoist
4

Question Number : 174 Question Id : 8946584182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements 1s True?
Options :

in group drive initial cost 1s high
1.

at no load. d.c series motor can be started safely

=

in case of centrifugal pumps. torque varies as the square of the speed

’ starting torque of a shaded pole motor 1s very high

Question Number : 175 Question Id : 8946584183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A locomotive with a mass of 50.000 kg on a track whose coefficient of adhesion 1s

20% will produce a tractive effort of (around)

Options :

25 KN

1 KN

12

100 KN

250 KN

Question Number : 176 Question Id : 8946584184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct statement from the following?
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distance between stops divided by the actual time of run 1s called the scheduled speed

series parallel speed control 1s widely used n electric traction

13

g meta-dyne converter output is constant current and constant voltage

battery electric drive 1s usually used for urban and sub-urban series

Question Number : 177 Question Id : 8946584185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The specific energy output of a traction motor 1s ‘X' watt-hour per tonne-km and the
efficiency of gear 1s 0.5 and the efficiency of motor 1s also 0.5. The value of specific
energy consumption 1s

Options :

2X
1.

X

L2

4X

8X

Question Number : 178 Question Id : 8946584186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s the characteristic of main line service in electric traction?
Options :

1 the operation mvolves over long distances within frequent stops

the operating speeds are low

1

accelerating and braking periods are relatively important

s
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the distance between the stops 1s about 6 kms

Question Number : 179 Question Id : 8946584187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Electric braking through plugging without any additional corrective measure

1s possible for

Options :
3 - @ induction motor

3 - @ Synchronous motor

L2

d.c series motor

repulsion motor

Question Number : 180 Question Id : 8946584188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An electric drive consists of

Options :

motor. transmitting shaft and control equipment
1.

motor and load

12

motor. control equipment and load

motor. supply system and load

Question Number : 181 Question Id : 8946584189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Most commonly used AC motor is

Options :
| synchronous motor
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slip ring induction motor

12

squirrel cage induction motor

AC commutator motor

Question Number : 182 Question Id : 8946584190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A 60 W lamp gives a luminous flux of 1500 lumen. Its efficiency is

Options :

1500 lumen/watt

250 lumen/watt

12

25 lumen/watt

2.5 lumen/watt

Question Number : 183 Question Id : 8946584191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The size of wire for wiring a 15 Amps socket outlet in kitchen should be

Options :
2 . .
4 mm~ alummum conductor smgle core

1 0 L]
6 mm- aluminum conductor single core

12

2 - .
1.5 mm~ alumimum conductor single core

. a ]
8 nmnl 311111111111111 CDIIdllCtOl' smgle core

Question Number : 184 Question Id : 8946584192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The size of continuous earth wire used with cables 1n domestic imnstallation

should not be less than 11 any case.

Options :

1 8§ SW.G

6 SW.G

- ]

12 S.W.G

14 S.W.G

Question Number : 185 Question Id : 8946584193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The minimum clearance above ground of the lowest conductor of an overhead line

for high voltage lines upto 11 KV erected along a street is

Options :

6.1 m

52m

-2

5.8 m

40m
4

Question Number : 186 Question Id : 8946584194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The load on each power sub-circuit should be normally restricted to

Options :

; 800 watts

3000 watts

)
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2000 watts

J

1000 watts

Question Number : 187 Question Id : 8946584195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The main advantage of looping in system of wiring 1s

Options :
tappings are taken directly from the mains

no tappings are taken directly from the mains

12

joint boxes are used

the length of wire required is more

Question Number : 188 Question Id : 8946584196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a CRO by changing the time base. the following can be changed?

Options :
amplitude of saw tooth voltage

frequency of saw tooth voltage

=3

gain of saw tooth voltage waveform

intensity of saw tooth voltage

Question Number : 189 Question Id : 8946584197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A monostable multivibrator 1s also called

Options :
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a flip-flop

a clock

one shot multivibrator

a free running multivibrator

Question Number : 190 Question Id : 8946584198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The master-slave JK flip-flop is an example of

Options :
level-triggered device

positive edge-triggered device
negative edge-triggered device

, pulse-triggered device

Question Number : 191 Question Id : 8946584199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two-mput XNOR gate gives HIGH output

Options :
, When one mput is HIGH and other 1s LOW

only when both the inputs are LOW

12

when both the mputs are the same

, only when both the inputs are HIGH

Question Number : 192 Question Id : 8946584200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The conduction loss versus device current characteristic of a Power MOSFET

1s best approximated by a/an

Options :

parabola
1.

straight line

=

rectangular hyperbola

experimentally decaying function

Question Number : 193 Question Id : 8946584201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A step-up chopper is used to feed a load of 400 V d.c from a 250V d.c source. The
induction current is continuous if the off time of the switch in 20us. The switching
frequency of the chopper in KHz 1s .

Options :

1 31.2 KHz

50 KHz

1

1 KHz

314 KHz

Question Number : 194 Question Id : 8946584202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The output voltage wave form of a three phase square-wave mverter contains

Options :

only even harmonics

both odd and even harmonics

L-2
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any odd harmonics

4, only triple harmonics

Question Number : 195 Question Id : 8946584203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Microcontroller 8051 has bits of the data bus.

Options :

16

12

(T
12

64

Question Number : 196 Question Id : 8946584204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A voltage source 200 sin (314t) 1s applied to a thyristor controlled half wave

rectifier with resistive load of 50 ohms. If the firing angle is 30° with respect

to supply voltage waveform. the average power in the load 1s

Options :

, 90.6 Watts

| 86.3 Watts

-2

: 60.8 Watts

70.6 Watts

Question Number : 197 Question Id : 8946584205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A smgle phase AC regulator with an inductive load has the following details:
source voltage = 230V, frequency = 50 Hz and oL = 5 ohms. The control range of

the firing angle (a) 1s

Options :

1 O0<a <m

12

O0<a <w?2

T>0> 72

Question Number : 198 Question Id : 8946584206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When a bipolar junction transistor is operating in the saturation mode. which of the

following statements 1s true about the slate of its collector-base (CB) and the base-

emitter (BE) junction?
Options :

the CB junction 1s forward biased and the BE junction 1s reverse biased
1.

both CB and E junctions are forward biased

12

the CB junction 1s reverse biased and the BE junction 1s forward biased

the CB junction 1s reverse biased and the BE junction is reverse biased

Question Number : 199 Question Id : 8946584207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The increasing order of speed of data access for the following device is:

1. Cache Memory
i11. Dynamic RAM
v. Magnetic Tape

Options :

1

-2

(V). (11), (11). (1v). (1)

(v). (ii). (iii). (D). (iv)

: (11). (1). (1), (1v). (V)

" (v). (11). (1). (111). (1v)
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11. CD-ROM

1v. Processor Registers
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The octal equivalent of the HEX number AB.CD i1s

Options :

253.314

1.

1

526.314

526.632
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